Specdy

MARIO Foid 80C

1§ Fﬁ iﬁ, HH Operation instructions



#2XRIE® Preparations Before Flying the Mario

SB— RCETEREINNOAE, HNEM NHRNE PR KR ERREIRE, TENERARE,
R IR IEAI4FIMIT 1 4mm 8222

Step One: Rotate the frame arms to their corresponding positions one by one. At this point, the positioning
steel balls should be as shown in the picture below (if the quick folding function is not used often, you can
install the provided four M3*14mm screws after the frame arms have been rotated).

O M348z

M3*14 screws
&




ST fEAHINAIRFRORME1-4 M10#222 .

Step Two: Use the H3 hex wrench to tighten clockwise the four M10 screws.

RS EHERR NZE

Tighten clockwise



$B=: RERHRIEBREHFGRRME.

Step Three: Properly install and lock the
propellers as shown in the picture.

IRESEHAOR SR

Lock clockwise




IRRRLIURIRKRE R Z BT

Adjust the angle of the antenna mount to ensure that the receiver antenna
does not interfere with the propellers.

BETERENNVE
Adjust the position of the T-shaped antenna



M RIPAREFF BTT A

Method for opening side protective plate




19, 20MME BEHEAMNE R . ZRARA DIREA R R BN EE H23mm, (RS,
fERT IR o
Installation of 199mm and 20mm wide cameras.

The standard installation width for the camera and mounts is 23mm in total inside.
Flip the mounts to resize easily.

15 2

~1

RUE2 (19mm)  (2+19+2)mm DJIO3 (20mm)  (1.5+20+1.5) mm



TRIRENRIE. (REAT, SR TIIRRERRL AR L)

Installation of T-shaped antennas. (Before installation, first remove the screws
connecting the top plate and the antenna mount.)

4 TR
Install the connecting
screws

TR

Out direction of T-shaped antenna

BUHNENTS [

Receiver installation direction



REMRRMAFHTHX

Two ways to install the antenna

SMATEE
SMA connector

KL RERER KSR (FSREERMRETT )
Pass the antenna through the antenna mount and antenna adapter
(align with the bottom of the antenna adapter).

— 2 mEEmwEz
Tighten two M4 screws

3
EERIFIIREATRELEAIEN

Push the fixed antenna into the antenna mount



